Dividing Polynomial 6-3 A Name: %

Divide using long division.

L (x2 = 3x — 40) = (x = 5) 2.(3x7 4+ Tx —20) = (x +4)
4 - 2X -
2_35x-40 *4Ix-20
X Xi‘fﬁx
e T ) I W 0 N
__.(8):,(_‘0 _5)("20
(%% -90) (—SX'ZO)
0 0
—
T E T+ 2) (- (24 = 3T = I8y — 8) = (v — 4
. x* +;X) *’3( ! * N Rx""(wx ' P
X-4 BX'S‘S)\’L'Iﬁx-—%—
3 - X ¥ 2
X-1 % +3><) o ~ (2x3-8xY)
3 v 2 =, t.
- - X +4x+3+ 5y % 13X
(x/—-—-'q‘;{_x Z X X — (5x*-29x)
dy*=Hx) ax - %
- (X = _(ax-®
3x 4% =
_(3%-3) ,
—— 5 [2x7r5x+3)

~—~—— , ’
S (0 =187 —x +2) = 3+ 1) 6. (a2 —21x —20) = (x = 1)

g P-Tx4d qx =T
] [ TP -18xT-X +2 X-1 [ q¢v-7(x-20
— (9 +3x%) "(‘Ix‘-‘?x),
~2lx =X

= (-4x*-7%)
A S

6x +d

—(6x 9

O

l 3x " - x +§\_




N : A ' 2 :
Determine whether each binomial is a factor of 3 + 4x% + 1 — G.
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